
NO. PART NO. DESCRIPTION QTY

1 310FT De-cat Turbo Downpipe  1

Fit Kit

2 Z017.10040 M8 x 20mm Hex Head Bolts 2

3 Z017.10831 M8 x 17mm Washer 6

4 Z017.10047 M8 x 25mm Hex Head Bolts 2

5 Z017.10062 M8 Nyloc Nut 2

6 Z007.31598 Mounting Bracket 1

Part No.

Fit Kits

Features

Car

Year

Notes

Abarth 595 / 695 Garrett Turbo

2015-Current

Where not supplied use original fittings.
This downpipe will not fit with IHI turbo.

SFTC006

304FK

Pipe Diameter:- 76mm

NOTE: ENSURE SCORPION SYSTEM IS CLEAR OF MOVING PARTS AND ALL ORIGINAL FUNCTIONS WORK CORRECTLY.

E-MARK N/A

DATE 03/05/18

ISSUE 00

AUTHORISED M.Ydlibi

ss‘STAY CONNECTED TO RED POWER.

Estimated Fitting Time: 90 Minutes

The Mounting bracket replaces the 
original mounting bracket. Bolt the flange 
of the downpipe to the mounting bracket. 
Bolt the flange of the Scorpion or original 

cat-back system to the flange of the 
downpipe as shown in the picture.

6

FITTING INSTRUCTIONS//

1

2

3

3

3

4

5

6


